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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 5207 4.4 1.9 8 55.5 99.9
2 5207 2.9 1.5 6 47.8 99.9
3 5211 5.2 1.6 8 65 100
4 5210 6.8 2.5 11 61.7 99.9
5 5192 6.2 3.1 12 51.7 99.6
6 5207 6 2 12 50.1 99.9
7 5202 6.6 2.8 13 51 99.8
8 5194 4.5 2.1 10 44.8 99.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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5.	 The techniques of recombinant DNA technology and micro-propagation are used to produce 
Genetically Modified Crops. The following summary is adapted from an account given on the 
Food Standards Agency’s web site [www.food.gov.uk]

	 1.	 A plant with the desired characteristic is identified – e.g. resistance to the herbicide 
‘Roundup’.

	 2.	 The specific gene that produces this characteristic is found in the plant’s DNA and 
cut out.

	 3.	 To get the gene into the cells of the plant being modified, the gene needs to be 
attached to a carrier. A piece of bacterial DNA called a plasmid is joined to the gene 
to act as the carrier.

	 4.	 Once the gene is attached to the plasmid, a marker gene is also added to identify 
which plant cells take up the new gene.

	 5.	 The ‘gene package’ is put in a bacterium, which multiplies, to create many copies of 
the ‘gene package’.

	 6.	 A copy of the ‘gene package’ is dried onto a gold or tungsten particle – and fired 
into a piece of tissue from the plant being modified. The particle carries the ‘gene 
package’ into the plant’s cells.

	 7.	 The plant tissue is put into a selective growth medium so that only modified tissue 
develops into plants.

	 (a)	 Explain how different types of enzymes are used in stages 2 and 3 to produce the ‘gene 
package’.	 [4]
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	 (b)	 Describe the steps involved in the culture of a large number of genetically identical plants 
from the plant tissue produced in stage 7.	 [3]

	

	

	

	

	

	

	 (c)	 (i)	 Explain the advantage to farmers of having crops resistant to ‘Roundup’.	 [3]

	

	

	

	

	

	

	 (ii)	 Explain why environmentalists might have legitimate objections to using GM crops 
resistant to ‘Roundup’.	 [2]

	

	

	

	







Sticky Note
The rest of this is very confused. Random references to irrelevant gene technologies. Even if these technologies were relevant QWC is so poor it would be difficult for an examiner to award any marks.

Sticky Note
Poor QWC. The candidate names the correct enzyme in a way that does not make sense.

Sticky Note
Candidate mentions sticky ends but does not explain what they are.

Sticky Note
Candidate names the correct enzyme but loses the mark because of poor QWC. The rest of this 'sentence' does not make sense.

Sticky Note
[0]



Sticky Note
[1]

Sticky Note
[0]

Sticky Note
The candidate makes vague incorrect references to pollution by fertiliser and bioaccumulation. Nothing that could be seen as a legitimate objection to using GM crops.

Sticky Note
Candidate refers to pesticides. Either confusing the herbicide Roundup for a pesticide or making an irrelevant point.

Sticky Note
[1]

Sticky Note
This just about gets the third marking point.

Sticky Note
Candidate gives part of the first marking point but does not explain that the weeds are killed.

Sticky Note
[0]

Sticky Note
Reference to callus but in a way that does not make sense. Poor QWC loses this candidate the mark.

Sticky Note
Some reference to sterile technique but not enough to award the mark. 







Sticky Note
[4]

Sticky Note
The fourth mark is for explaining the use of ligase.

Sticky Note
The second mark is for explaining that the SAME restriction enzyme is used to cut the plasmid.

Sticky Note
The third mark is for explaining that the enzymes leave  'sticky' ends with unpaired bases which are complimentary.

Sticky Note
The first mark is for explaining the use of restriction enzymes.




Sticky Note
[11]

Sticky Note
[1]

Sticky Note
The second mark may be awarded for explaining that the basis of the objection is transfer of resistance gene.

Sticky Note
The first mark cannot be awarded here because there is no explanation of how the gene may pass to weeds.

Sticky Note
Second mark is for explaining reduced competition.

Sticky Note
Third mark is for explaining increased yield.

Sticky Note
The first mark is for explaining that weeds are killed but GM crops are not.

Sticky Note
[3]

Sticky Note
The third mark is for describing subdivision of the callus.

Sticky Note
The second mark is for describing callus development.

Sticky Note
The first mark is for describing the transfer of plant material to sterile growth medium.

Sticky Note
[3]









Sticky Note
Forth mark is for explaining the use of ligase.

Sticky Note
Third mark is for explaining that the sticky ends are complementary.

Sticky Note
Second marking point for explaining the SAME restriction enzyme is used to open up the plasmid.

Sticky Note
First marking point for explaining use of restriction enzyme.

Sticky Note
[4]
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[12]

Sticky Note
[2]

Sticky Note
The second mark is for giving a clear explanation of the basis for the objection.

Sticky Note
The first mark is for clearly stating a legitimate objection.

Sticky Note
[3]

Sticky Note
Third mark is for explaining increased yield.

Sticky Note
Second mark is for explaining reduced competition. 

Sticky Note
First mark is for explaining that weeds will be killed but crop will not.

Sticky Note
Although this candidate gave all five marking points the maximum of three marks were awarded.

Sticky Note
Describing the transfer of plantlets to sterile soil is the fifth marking point.


Sticky Note
The fourth marking point is applying hormones / growth factors to cause differentiation.

Sticky Note
The third mark is for describing the subdivision of the callus.

Sticky Note
Second mark is for describing the development of a callus / mass of undifferentiated cells.

Sticky Note
First mark is for describing the transfer of  plant tissue to a sterile medium.

Sticky Note
[3]



Sticky Note
This is correct but not needed to give a full answer to the question.
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6.	 A species of mouse Peromyscus polionotus found in Florida, USA, has a number of different 
coat colours. Coat colour in mice is controlled by several genes. Dark fur is produced when the 
hair producing cells secrete a pigment called eumelanin. A high level of eumelanin is produced 
when a transmembrane protein called MC1R is stimulated by a hormone.

	 (a)	 The diagram below shows part of the amino acid sequence of MC1R, part of the sequence 
of nucleotides in the gene for MC1R and how it might change to produce light fur:

lle Thr Lys Asn Arg Asn Leu His Ser

ATCACCAAAAACCGCAACCTGCACTCG

lle Thr Lys Asn Cys Asn Leu His Ser

ATCACCAAAAACTGCAACCTGCACTCG

Original

Changed to produce light fur

Amino acid sequence

Amino acid sequence

Nucleotide sequence 
(allele R)

Nucleotide sequence 
(allele C)

	 (i)	 Describe the change in the gene and the subsequent change in the MC1R 
molecule.	 [2]

	

	

	

	

	

	 (ii)	 Using the information provided, explain how this change results in mice with light 
fur.	 [2]
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	 (i)	 Use the diagram to suggest how fur colour is related to environmental conditions.
	 [2]

	

	

	

	

	 (ii)	 Under what circumstance could the difference between the allele frequencies 
in populations 2 and 3 be explained by genetic drift, despite both living on 
beaches?	 [1]

	

	

	 (b)	 This change in the MC1R gene means that there are two alleles, R and C. 
		  The map below shows the distribution of the different coloured mice and the relative 

frequencies of the alleles R and C in each population. 

sandy beaches

Northern Florida

forest/scrub

Allele	 30% R
frequency	 70% C

Allele	   5% R
frequency	 95% C

Allele	 100% R
frequency	     0% C

Population 2

Population 3

Population 1
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	 (iii)	 Explain how Natural Selection could have caused the relative allele frequency 
shown in population 3.	 [4]

	

	

	

	

	

	

	

	

	 (iv)	 Under what circumstances would the mouse population become a separate 
species?	 [1]

	

	

 

12









Sticky Note
[2]

Sticky Note
[1]

Sticky Note
Quality of written communication is weak, with the candidate suggesting the protein is secreting eumelanin, however the first mark would be awarded for ' a different protein is made' so benefit of doubt would be given, especially in the context of the last sentence in the previous answer.
'MCR1 not stimulated by hormone, gets second marking point.

Sticky Note
Candidate describes the change in the nucleotide sequence in nucleotide sequence for first marking point. 
However the change in the amino acid sequence is not specified so second marking point is not awarded.



Sticky Note
[0]

Sticky Note
[1]

Sticky Note
No reference to allele frequency.

Sticky Note
The first part of the question is not answered. Fur colour is not related to environmental conditions. However, camouflage is described for second marking point.



Sticky Note
[5]

Sticky Note
[1]

Sticky Note
An isolation mechanism is required.

Sticky Note
Second marking point may be awarded as error carried forward.

Sticky Note
Population 3 is not in forest.

evansl
Sticky Note
[0]









Sticky Note
[2]

Sticky Note
Second and third marking points are given in this sentence.


Sticky Note
Change to nucleotide sequence and amino acid sequence both described.


Sticky Note
[2]



Sticky Note
[0]

Sticky Note
[2]

Sticky Note
Light fur is related to sandy beaches and dark fur to forests for first marking point; reference to camouflaging gets second marking point.




Sticky Note
[10]

Sticky Note
This is the definition of a species. The question asks for circumstances i.e. an isolating mechanism.

Sticky Note
[0]

Sticky Note
[4]

Sticky Note
95% of population have allele is 4th marking.

Sticky Note
Increasing allele frequency is third marking point.

Sticky Note
Second marking point passing the allele to next generation.


Sticky Note
Selective advantage = first marking point.










Sticky Note
Less eumelanin produced is 3rd marking point.

Sticky Note
Change in tertiary structure for first marking point.

Sticky Note
[2]

Sticky Note
Change in amino acid sequence is described.

Sticky Note
Change in gene is described.

Sticky Note
[2]



Sticky Note
[1]

Sticky Note
Genetic drift occurs in small populations.

Sticky Note
Light fur in sandy beaches and dark fur in forest both given for first marking point.

Sticky Note
Reference to camouflage for second marking point.

Sticky Note
[2]



Sticky Note
[11]

Sticky Note
The mark is for giving an isolating mechanism. The continuation is a definition of a species.

Sticky Note
Increasing allele frequency is third marking point.

Sticky Note
Passing favourable alleles to next generation is second marking point.

Sticky Note
Selective advantage is first marking point.

Sticky Note
[3]

evansl
Sticky Note
[1]
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7. The following is a quotation from an ecological investigation.

“Lowland heaths are high-profile ecosystems for conservation action in England, but they are
under threat from invasion by Betula spp., Pinus sylvestris, and Ulex europaeus.”

[R.J. Mitchel et al. Journal of Applied Ecology, 1997, 37, 1426-1444]

	 (a)	 Distinguish between primary succession and secondary succession.	 [2]
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The authors studied a number of heathland sites in Dorset including Arne, Blackhill, and Higher 
Hyde, where succession to one or another of the three species had taken place. The data below 
are based on the paper but have been simplified and modified for illustrative purposes. 
The successional stages in the study were named according to the dominant invasive species; 
plus B, where Betula spp, was the invader, plus PS, where Pinus sylvestris was the invader and 
plus U, where Ulex europaeus, was the invader. 

	 (b)	 The group examined changes in soil chemistry from the original heath stage. Some of 
their results are summarised in the table below:

soil chemical property value by succession stage
original heath plus B plus PS plus U

pH
Arne 3.63 4.01 3.60 3.63
Blackhill 3.52 3.66 3.48 3.54
Higher Hyde 3.53 5.06 3.51 3.47

mean 3.56 4.24 3.53 3.55
phosphorus μgPg–1

Arne 2.41 3.85 2.69 3.16
Blackhill 4.15 4.91 3.79 4.55
Higher Hyde 5.08 5.35 3.55 4.76

mean 3.88 4.70 3.34 4.16
nitrate/nitrite μgNg–1

Arne 0.51 0.65 0.59 1.16
Blackhill 0.84 0.88 0.97 2.31
Higher Hyde 0.69 0.98 1.17 3.64

mean 0.68 0.84 0.91 2.37

(i)	 What do the pH values tell us about the soil in all stages in all sites?	 [1]

		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(ii)	 Use mean values from the table above to compare three changes to soil chemistry 
following invasion by Betula spp. with the changes following invasion by Ulex 
europaeus.	 [3]

		 pH  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		 phosphorus  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		 nitrate/nitrite  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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(i)	 Which invading species has least impact on the vegetation on the original 
heathland?	 [1]

(ii)	 With reference to the data for plus B in both tables suggest a mechanism by which 
changes to vegetation occur during succession.	 [2]

(c)	 The table below shows changes to the vegetation in the successional stages:

Species
(by successional stage)

% cover of species (by site)
Arne Blackhill Higher Hyde

original heath
Calluna vulgaris 62.0 66.1 88.2
Erica cinerea 22.4 25.7 2.6
Erica tetralix 9.9 2.6 9.9
Cladonia portentosa 8.5 0 0.5

plus B
Betula spp. 18.9 11.7 16.5
Agrostis curtisii 0.0 53.6 0.0
Pteridium aquilinum 25.2 7.5 1.6
Calluna vulgaris 0.0 0.0 0.4

plus PS
Pinus sylvestris 36.2 38.2
Pteridium aquilinum 0.3 24.7
Erica cinerea 0.0 0.0
Calluna vulgaris 0.0 0.0

plus U
Ulex europaeus 87.0 75.3 79.0
Calluna vulgaris 14.7 5.8 7.2
Erica cinerea 1.5 11.3 4.3
Erica tetralix 0.1 0.3 0.3
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	 (d)	 Sixteen years later some of these successions have reached their natural conclusions. 

(i)	 What name is given to the group of organisms that inhabit the ecosystem at the end 
of successional change?	 [1]

(ii)	 What usually happens to species diversity as succession proceeds?	 [1]

(iii)	 Using named species from the table in part (c) explain why conservationists in 
Dorset are taking steps to prevent plus B and plus PS succession in heathland, 
but are less worried about type plus U succession.	 [2]

13











Sticky Note
[1]

Sticky Note
Poor QWC again but there is just enough here to allow benefit of doubt for second mark.

Sticky Note
Poor QWC loses this mark. "Primary succession is bare rock ..." does not make sense.



Sticky Note
[0]

Sticky Note
No comparison with Ulex.

Sticky Note
Incorrect change for Betula, no comparison with Ulex.

Sticky Note
Incorrect change for Betula, no comparison with Ulex.

Sticky Note
[1]

Sticky Note
Correct identification that all pH values are acidic.



Sticky Note
[0]

Sticky Note
No reference to change in soil chemistry for first marking point. No reference to competitive advantage nor suitability for second mark.

Sticky Note
[0]

Sticky Note
Plus U is not the name of a species.



Sticky Note
[3]

Sticky Note
[0]

Sticky Note
Named species not used.

Sticky Note
[1]

Sticky Note
Correct.

Sticky Note
[0]

Sticky Note
Incorrect. Oak trees is not the name of a community.











Sticky Note
[2]

Sticky Note
This just about describes secondary succession for second marking point.


Sticky Note
Candidate correctly describes primary succession for first marking point.



Sticky Note
[2]

Sticky Note
Incorrect correct change caused by Betula.

Sticky Note
Correct change caused by Betula AND correct comparison with Ulex.


Sticky Note
Correct change caused by Betula AND correct comparison with Ulex.

Sticky Note
[0]

Sticky Note
Incorrect. pH does not indicate availability of nitrogen.



Sticky Note
[0]
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[1]

Sticky Note
No reference to competitive advantage/ disadvantage nor suitability for second mark.

Sticky Note
Correct description of altered soil chemistry for first mark.

Sticky Note
Plus PS is not the name of a species. In any case plus U has less impact.
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[7]

Sticky Note
[0]

Sticky Note
There is no evidence from the table that plus U, plus B and plus PS are at different stages of succession. Although there are named species here, the reference to them does not answer the question.

Sticky Note
[1]

Sticky Note
[1]

Sticky Note
Candidate correctly identifies that biodiversity increases as succession proceeds.

Sticky Note
Candidate correctly names climax community.













Sticky Note
Second mark is awarded below.

Sticky Note
The first mark is for stating succession takes place from an environment that has not previously been colonised / bare rock.
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Sticky Note
In all three examples the candidate gives the change caused by Betula AND compares that with the change caused by Ulex. 

Sticky Note
This mark is for recognising that all the values are acidic pHs.

Sticky Note
[1]



Sticky Note
[1]

Sticky Note
Unfortunately the candidate makes a contradictory statement here so loses the second mark.

Sticky Note
Candidate correctly suggests a change to soil chemistry for the first marking point.

Sticky Note
The candidate correctly identifies the invading species having the least impact. 

Sticky Note
[1]
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[2]

Sticky Note
Candidate correctly explains greater loss of biodiversity in plus B and plus PS  succession with reference to named species Erica tetraix, for first marking point.

Sticky Note
Candidate correctly explains that plus U does not remove Erica and Calluna species for second marking point.
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Sticky Note
Candidate correctly describes increase in biodiversity as succession proceeds.

Sticky Note
Candidate correctly names the climax community.
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Question Marking details 
Marks 


Available 
   


5 (a)  Restriction {endonuclease/ enzymes} used to cut (out the 


desired gene);  


The same {endonuclease/ enzyme} is used to open the 


plasmids; 


Producing  {complementary/ corresponding} ‘sticky ends’;  


Ligase is used to {join/ splice/ attach/ adhere/ anneal} gene 


into plasmid; 


4 


     


 (b)  Placed in sterile, (aerated) {medium/agar}; NOT soil 


(Allow) cells to form {callus/ mass of {undifferentiated/ 


totipotent cells}}; 


Callus is subdivided; 


Apply hormones to callus to differentiate into plantlets/ 


Plantlets {transplanted/put} into sterile soil; 


Max 3 


     


 (c) (i) ‘Roundup’  will not kill crop but it will kill {other plants / weeds};  


Reducing competition in the field;  


Allowing increased yield; 


3 


     


  (ii) There will be increased use of herbicide; 


a reduction in biodiversity/ may lead to {herbicide resistant 


weeds/ superweeds} bioaccumulation in food chain;  


OR 


Dispersal of pollen from crops engineered for herbicide 


resistance to {wild relatives/ weeds};  


may lead to {herbicide resistant weeds/ superweeds}; 


OR 


Dispersal of pollen from crops engineered for herbicide 


resistance to other crops;  


May contaminate organic crops; 


OR 


(GM crop) produces a new protein; 


Unknown effects of eating new protein;  


Max 2 


   Question 5 Total [12] 
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Question Marking details 
Marks 


Available 
     


6 (a) (i) CGC is replaced by TGC/ C is replaced by T; 


Amino acid cys has replaced arg; 


 


2 


  (ii) Change in {protein/ tertiary} structure/ different protein is made; 


MC1R will not be stimulated (by the hormone);  


{Less/no} eumelanin will be produced; 


Max 2 


     


 (b) (i) Mice with light fur found in an environment providing {light 


backgrounds/sandy beaches} AND mice with dark fur in {forest 


/dark backgrounds}/  


Dark fur is found in the darker background/   


light fur is found in the lighter background;  


For camouflage/ OWTTE; 


 


2 


  (ii) Small populations (of mice); 


 


1 


  (iii) Mice with light fur {are less easily seen/caught by predators/ 


correct reference to camouflage/ have a selective advantage}; 


Light fur mice (survive to) reproduce and pass {allele C/ 


advantageous allele/ light fur allele} to next generation; 


Increasing the frequency of the allele; 


95% of population (have allele C);  


 


4 


  (iv) {Genetic/behavioural/geographic/allopatric/reproductive/ 


sympatric/ seasonal/ temporal} isolation; 


1 


     


   Question 6 Total [12] 
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Question Marking details 
Marks 


Available 
     
7 (a)  Primary: environment not previously colonised/ from bare 


rock;  


Secondary: environment has soil/previous inhabited; 


2 


     
 (b) (i) Acid/acidic; NOT low 1 


     
  (ii) feature  Betula Ulex 


pH (from 3.56 to 4.24, 


difference of 0.68) 


Increases 


pH/makes more 


alkali/ makes less 


acidic/ 


(from 3.56 to 3.55 


difference of 0.01) 


Not much/ 


no change/ no 


effect/ slight 


decrease; 


Phosphorus (from 3.88 to 4.7 


difference of 0.82) 


Increases a lot 


(from 3.88 to 4.16 


difference of 0.28) 


Small increase; 


Nitrate (from 0.68 to 0.84 


difference of 0.14) 


Increases 


(from 0.68 to 2.37 


difference of 1.69) 


Very large 


increase; 
 


3 


   1 mark for valid COMPARISON of each feature  


     
 (c) (i) Ulex europaeus; 1 


     
  (ii) The {invading /dominant/ new/ named species} {change the 


soil chemistry/ named change};  


Giving them a competitive advantage/ competition for 


named resource/ existing species are at a disadvantage/ so 


are better suited to the environment; 


2 


     
 (d) (i) Climax community; 


 


1 


  (ii) Increases; 


 


1 


  (iii) {C. vulgaris /E. cinerea /E. tetralix}  are disappearing from 


plus B and plus PS;  


These are surviving in plus U;  


Names must be included to access any marking points 


2 


   Question 7 Total [13]  
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